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4. 30" term of the AP: 10, 7.4, . ..
(A) 97 ny 77 (©) 77 D) -8
5. sin" (25" 4 cos (25" i equal to

. )
(A sin (30% ) sin (90") () cos (907) (D) sin (07)

6. The abscissa ofany point on v-axis is
(A) 0 (B) | (C) -1 (D) none

7. HCF (0, 2) s
(C) not possible to ﬁn(i, (D) none

(A) 0 (B) 2

S. Getting a natural number greater than zero is an example of
(A) impossible event (B) sure event (C) simple event (D) none

S.Three times volume of right circular cone of given height (h) and radius r isequal to:
(A) twice volume of cylinder of height h and radius r (B) volume of cylinder of

height h and radius r

(C) half of volume of cylinder of height h and radius r (D) none

10. Which of the following is quadratic equation

(A)  1+x%+ Vx=0 (B) (x-1)* =(x-2)? (C) (x-1) (x-2) =x*>+2 (D) x*+2=5
(True/False)

11. Prime factorization of 1001 is 7.11.13

12. The sum of first n natural numbers is

! 1
13.IfP(A)= s then P (not A) = " (True/False)
14. Al triangles are similar,

15. A circle can have parallel tangents at the most.
16. Write formula for sum to n terms of an AP,
17. V2 x + 3 y =4 is an example of linear cquation in two variables. (True/False)

G Scanned with OKEN Scanner



18. sin (30") + cos (60") is equal Lo tan (45"). (True/False)

OR

I sin A = Cos A, where A is acute angle, then angle A is

19. Calculate mean of first 10 natural numbers.

20. Write the formula for Mean ol Grouped data.
OR

\Mode of observations 4, 2, 9.2.1,3,2,521s

SECTION-B

21. Solve by substitution method

2 X+¥3y =0 and V3 x - V8 y=0
22. Find discriminant of the quadratic equation 2x2-4x+3=0 and hence nature ofroots.
23. Given 15cotA=8, find sec A.
24. Find volume of hemisphere of radius 2Zem.

OR
Calculate volume of cylinder of radius 1 cm and height 1 cm.
25. Find the point on the x-axis which is equidistant from (2,-5) and (-2, 9).
OR
Determine if the points (1, 5), (2,3) and (-2, -11) are collinear.
26. The sum and product of zeros of quadratic polynomial x> - 15 are?
SECTION-C

27.1f A and B are (-2, 2) and (2, -4) respectively, find the coordinates of P such

2
that AP= 7 AR and P lies on the line segment AB.

28. Find the arca of the sector of a circle with radius 4 cm and angle 30%. Also findthe area of

the corresponding major sector.

X./
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fiameter of a circle are parallel.

sends ol adia

29. Prove that the tangent drawn at the ends ola

OR
i a circle arcequal.

[ an external paint to a circ
Prove that the lengths of tangents drawn from an extern N i |
atri ) the same ratio, thenthe line is
30. Prove that ifa line divides any two sides of a triangle in .
parallel to the third side. BAC. Show that CAZ=
. . . . N . . alr s ‘ /A')(":_/ ' "
31. Disa point on the side BC of a triangle ABC such that

CB.CD

32. Prove that 3+ 2 VS §s irrational.

OR

Find the sum of first 22 terms of an AP in which d=7 and 22th term is 149.

34. A die is thrown once. Find the probability of getting

(a) a prime number (b) a number lying between 2 and 6

SECTION D

35. Isit possible to design a rectangular mango grove whose length is twice itsbreadth, and
area is 800m??if so, find its length and breadth.

-OR

Find two consecutive positive integers, the sum of whose squares is 363.

a hemisphere. What is the greatest

36. A cubical block of side 7 ¢cm is surmounted by
area of the solid.

diameter the hemisphere can have? Find the surface

OR

A solid is in the shape of a cone standing on a hemisphere with both their radiibeing equal to

I'em and the height of the cone is equal to its radius. Find the volume in terms of 7.,
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37. From the top of a i ildi i
e [ 7m l\{gh bl}l‘khng, the angle of clevation of the top of a cable tower is
and the angle of depression of'its foot is 45°, Determine theheight of the tower.

38. If tan(A+B)= \3 and tan(A-B) = 1 0°<A+B<90" A>B, find A and B.
3

OR

J KA

1-Sin A

= Sec A+Tan A

Prove the identity

39. State and prove Basic Proportionality theorem.

OR
The diagonals ofa quadrilateral ABCD intersect each other at the point O such
0A CO
that — = —.show that ABCD is a trapezium.
BO DO

40. The distribution below gives the weights of 3 students of a class. Find themedian
weight of the students '

(in kg)

[No.of |2 3 8 6 6 3 2
| students

Weigh 1045 | 45-50 | 50-55 | 55-60 \60-65 \65-70 \70-75
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